
０.７ +０.３

１.４

⑩ ０.４ +０.７＝

０.６ +０.７＝

⑤ ０.２ +０.８＝

０.９＝

④ ０.９ +０.３＝ ⑨

＝ １③

０.５ +０.６＝

⑧ ０.６ +

⑦ ０.８ +０.４＝②

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.８＝ ⑥ ０.５ +０.７＝

① 例題

１



⑩ ０.３ +０.７＝⑤ ０.７ +０.６＝

０.９＝

④ ０.４ +０.６＝ １ ⑨ ０.８ +０.９＝

③ ０.８ +０.７＝ ⑧ ０.３ +

⑦ ０.８ +０.６＝② ０.５ +０.８＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.８＝１.７ ⑥ ０.９ +０.９＝

② 確認

２



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.８＝ ⑥

② ０.３ +０.９＝

０.７ +０.５＝

③ ０.８ +０.５＝ ⑧ ０.６ +

⑦ ０.８ +０.９＝

０.４＝

④ ０.９ +０.６＝ ⑨

⑤ ０.７ +０.３＝

０.７ +０.７＝

⑩ ０.４ +０.７＝

③ 確認

３



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.８＝ ⑥

② ０.８ +０.７＝

０.６ +０.７＝

③ ０.６ +０.５＝ ⑧ ０.５ +

⑦ ０.４ +０.６＝

０.７＝

④ ０.４ +０.８＝ ⑨

⑤ ０.７ +０.９＝

０.９ +０.９＝

⑩ ０.３ +０.７＝

④ 確認

４



② ０.４ +０.８＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.４＝+０.５＝ ⑥ ０.７

⑦ ０.８ +０.５＝

＝

③ ０.３ +０.７＝ ⑧ ＝

④ ０.７ +０.９＝ ⑨ ０.７

⑤ ０.６ +０.８＝

０.９

+０.７

０.５ +

⑩ ０.６ +０.４＝

⑤ 定着

５



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.５＝ ⑥

② ０.４ +０.７＝

０.７ +０.６＝

③ ０.５ +０.８＝ ⑧ ０.４ +

⑦ ０.６ +０.５＝

０.９＝

④ ０.７ +０.５＝ ⑨

⑤ ０.２ +０.８＝

０.８ +０.７＝

⑩ ０.９ +０.７＝

⑥ 定着

６



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.７＝ ⑥

② ０.５ +０.９＝

０.９ +０.６＝

③ ０.６ +０.８＝ ⑧ ０.８ +

⑦ ０.７ +０.５＝

０.９＝

④ ０.７ +０.８＝ ⑨

⑤ ０.３ +０.８＝

０.６ +０.７＝

⑩ ０.９ +０.１＝

⑦ 定着

７



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.７＝ ⑥

② ０.５ +０.９＝

０.７ +０.６＝

③ ０.６ +０.４＝ ⑧ ０.５ +

⑦ ０.２ +０.８＝

０.６＝

④ ０.４ +０.８＝ ⑨

⑤ ０.６ +０.９＝

０.６ +０.８＝

⑩ ０.９ +０.４＝

⑧ 定着

８



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.５ +０.７＝ ⑥

② ０.３ +０.８＝

０.８ +０.７＝

③ ０.９ +０.４＝ ⑧ ０.７ +

⑦ ０.５ +０.８＝

０.３＝

④ ０.４ +０.６＝ ⑨

⑤ ０.７ +０.９＝

０.６ +０.７＝

⑩ ０.９ +０.８＝

⑨ 定着

９



０.４＝⑥ ０.５ +０.１＝ ⑫ ０.９ +

⑪ ０.１ +０.３＝

０.７ +０.６＝

⑤ ０.９ +０.８＝

０.８＝

④ ０.４ +０.４＝ ⑩

③ ０.８ +０.３＝ ⑨ ０.２ +

⑧ ０.１ +０.７＝② ０.７ +０.５＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.８ +０.６＝ ⑦ ０.２ +０.５＝

⑩ 仕上げ

10



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.２ +０.３＝ ⑦

② ０.４ +０.６＝

０.６ +０.９＝

③ ０.８ +０.９＝ ⑨ ０.３ +

⑧ ０.６ +０.７＝

０.１＝

④ ０.５ +０.４＝ ⑩

⑤ ０.５ +０.８＝ +０.３＝

０.８ +０.８＝

０.７＝⑥ ０.４ +０.３＝ ⑫ ０.９ +

⑪ ０.７

⑪ 仕上げ

11



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.７ +０.８＝ ⑦

② ０.８ +０.６＝

０.５ +０.９＝

③ ０.５ +０.２＝ ⑨ ０.２ +

⑧ ０.９ +０.７＝

０.８＝

④ ０.７ +０.４＝ ⑩

⑤ ０.３ +０.５＝ +０.６＝

０.４ +０.２＝

０.７＝⑥ ０.１ +０.３＝ ⑫ ０.３ +

⑪ ０.７

⑫ 仕上げ

12



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.３ +０.４＝ ⑦

② ０.７ +０.６＝

０.５ +０.９＝

③ ０.５ +０.３＝ ⑨ ０.２ +

⑧ ０.４ +０.７＝

０.４＝

④ ０.８ +０.９＝ ⑩

⑤ ０.３ +０.６＝ +０.４＝

０.９ +０.７＝

０.７＝⑥ ０.６ +０.８＝ ⑫ ０.８ +

⑪ ０.６

⑬ 仕上げ

13



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.４＝ ⑦

② ０.９ +０.６＝

０.２ +０.９＝

③ ０.７ +０.３＝ ⑨ ０.３ +

⑧ ０.２ +０.８＝

０.４＝

④ ０.４ +０.９＝ ⑩

⑤ ０.５ +０.７＝ +０.６＝

０.６ +０.５＝

０.３＝⑥ ０.６ +０.３＝ ⑫ ０.２ +

⑪ ０.８

⑭ 仕上げ

14



名まえ

・次の計算をしましょう。

① ０.５ +０.３＝ ⑦

② ０.７ +０.６＝

０.７ +０.８＝

③ ０.２ +０.８＝ ⑨ ０.５ +

⑧ ０.１ +０.５＝

０.４＝

④ ０.２ +０.２＝ ⑩

⑤ ０.３ +０.６＝ +０.２＝

０.６ +０.９＝

０.２＝⑥ ０.６ +０.８＝ ⑫ ０.４ +

⑪ ０.８

⑮ ⼒だめし

15
目指せ80点！



名まえ

・次の計算をしましょう。

① ０.４ +０.３＝ ⑦

② ０.３ +０.６＝

０.７ +０.３＝

③ ０.５ +０.８＝ ⑨ ０.２ +

⑧ ０.６ +０.７＝

０.４＝

④ ０.８ +０.２＝ ⑩

⑤ ０.５ +０.６＝ +０.９＝

０.６ +０.８＝

０.７＝⑥ ０.６ +０.９＝ ⑫ ０.４ +

⑪ ０.３

⑯ ⼒だめし

16
目指せ80点！



１.１１ ⑩ ０.４ +０.７＝⑤ ０.２ +０.８＝

０.９＝１.５

④ ０.９ +０.３＝１.２ ⑨ ０.６ +０.７＝１.３

１.２

③ ０.７ +０.３＝ １ ⑧ ０.６ +

１.１ ⑦ ０.８ +０.４＝② ０.５ +０.６＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.８＝１.４ ⑥ ０.５ +０.７＝１.２

① 例題 答え

１



１１.３ ⑩ ０.３ +０.７＝⑤ ０.７ +０.６＝

０.９＝１.２

④ ０.４ +０.６＝ １ ⑨ ０.８ +０.９＝１.７

１.４

③ ０.８ +０.７＝１.５ ⑧ ０.３ +

１.３ ⑦ ０.８ +０.６＝② ０.５ +０.８＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.８＝１.７ ⑥ ０.９ +０.９＝１.８

② 確認 答え

２



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.８＝１.４ ⑥

② ０.３ +０.９＝

０.７ +０.５＝１.２

１.７

③ ０.８ +０.５＝１.３ ⑧ ０.６ +

１.２ ⑦ ０.８ +０.９＝

０.４＝ １

④ ０.９ +０.６＝１.５ ⑨

⑤ ０.７ +０.３＝

０.７ +０.７＝１.４

１.１１ ⑩ ０.４ +０.７＝

③ 確認 答え

３



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.８＝１.７ ⑥

② ０.８ +０.７＝

０.６ +０.７＝１.３

１

③ ０.６ +０.５＝１.１ ⑧ ０.５ +

１.５ ⑦ ０.４ +０.６＝

０.７＝１.２

④ ０.４ +０.８＝１.２ ⑨

⑤ ０.７ +０.９＝

０.９ +０.９＝１.８

１１.６ ⑩ ０.３ +０.７＝

④ 確認 答え

４



１１.４ ⑩ ０.６ +０.４＝⑤ ０.６ +０.８＝

０.９＝１.４

④ ０.７ +０.９＝１.６ ⑨ ０.７ +０.７＝１.４

１.３

③ ０.３ +０.７＝ １ ⑧ ０.５ +

１.２ ⑦ ０.８ +０.５＝② ０.４ +０.８＝

日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.６ +０.５＝１.１ ⑥ ０.７ +０.４＝１.１

⑤ 定着

５



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.９ +０.５＝１.４ ⑥

② ０.４ +０.７＝

０.７ +０.６＝１.３

１.１

③ ０.５ +０.８＝１.３ ⑧ ０.４ +

１.１ ⑦ ０.６ +０.５＝

０.９＝１.３

④ ０.７ +０.５＝１.２ ⑨

⑤ ０.２ +０.８＝

０.８ +０.７＝１.５

１.６１ ⑩ ０.９ +０.７＝

⑥ 定着 答え

６



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.７＝１.１ ⑥

② ０.５ +０.９＝

０.９ +０.６＝１.５

１.２

③ ０.６ +０.８＝１.４ ⑧ ０.８ +

１.４ ⑦ ０.７ +０.５＝

０.９＝１.７

④ ０.７ +０.８＝１.５ ⑨

⑤ ０.３ +０.８＝

０.６ +０.７＝１.３

１１.１ ⑩ ０.９ +０.１＝

⑦ 定着 答え

７



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.７＝１.１ ⑥

② ０.５ +０.９＝

０.７ +０.６＝１.３

１

③ ０.６ +０.４＝ １ ⑧ ０.５ +

１.４ ⑦ ０.２ +０.８＝

０.６＝１.１

④ ０.４ +０.８＝１.２ ⑨

⑤ ０.６ +０.９＝

０.６ +０.８＝１.４

１.３１.５ ⑩ ０.９ +０.４＝

⑧ 定着 答え

８



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.５ +０.７＝１.２ ⑥

② ０.３ +０.８＝

０.８ +０.７＝１.５

１.３

③ ０.９ +０.４＝１.３ ⑧ ０.７ +

１.１ ⑦ ０.５ +０.８＝

０.３＝ １

④ ０.４ +０.６＝ １ ⑨

⑤ ０.７ +０.９＝

０.６ +０.７＝１.３

１.７１.６ ⑩ ０.９ +０.８＝

⑨ 定着 答え

９



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.８ +０.６＝１.４ ⑦ ０.２ +０.５＝０.７

② ０.７ +０.５＝ ０.８

③ ０.８ +０.３＝１.１ ⑨ ０.２ +０.８＝ １

１.２ ⑧ ０.１

０.４ +０.４＝

＝+０.７

+

０.８ ⑩ １.３

⑤ ０.９ +０.８＝ ０.３＝

０.７ +０.６＝④

０.４＝１.３

０.４

⑥ ０.５ +０.１＝０.６ ⑫ ０.９ +

１.７ ⑪ ０.１

⑩ 仕上げ 答え

10



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.２ +０.３＝０.５ ⑦

② ０.４ +０.６＝

０.６ +０.９＝１.５

１.３

③ ０.８ +０.９＝１.７ ⑨ ０.３ +

１ ⑧ ０.６ +０.７＝

０.１＝０.４

④ ０.５ +０.４＝０.９ ⑩ １.６

⑤ ０.５ +０.８＝ +０.３＝

０.８ +０.８＝

０.７＝１.６

１

⑥ ０.４ +０.３＝０.７ ⑫ ０.９ +

１.３ ⑪ ０.７

⑪ 仕上げ 答え

11



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.７ +０.８＝１.５ ⑦

② ０.８ +０.６＝

０.５ +０.９＝１.４

１.６

③ ０.５ +０.２＝０.７ ⑨ ０.２ +

１.４ ⑧ ０.９ +０.７＝

０.８＝ １

④ ０.７ +０.４＝１.１ ⑩ ０.６

⑤ ０.３ +０.５＝ +０.６＝

０.４ +０.２＝

０.７＝ １

１.３

⑥ ０.１ +０.３＝０.４ ⑫ ０.３ +

０.８ ⑪ ０.７

⑫ 仕上げ 答え

12



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.３ +０.４＝０.７ ⑦

② ０.７ +０.６＝

０.５ +０.９＝１.４

１.１

③ ０.５ +０.３＝０.８ ⑨ ０.２ +

１.３ ⑧ ０.４ +０.７＝

０.４＝０.６

④ ０.８ +０.９＝１.７ ⑩ １.６

⑤ ０.３ +０.６＝ +０.４＝

０.９ +０.７＝

０.７＝１.５

１

⑥ ０.６ +０.８＝１.４ ⑫ ０.８ +

０.９ ⑪ ０.６

⑬ 仕上げ 答え

13



日にち：　　　月　　　日

名まえ

・次の計算をしましょう。

① ０.４ +０.４＝０.８ ⑦

② ０.９ +０.６＝

０.２ +０.９＝１.１

１

③ ０.７ +０.３＝ １ ⑨ ０.３ +

１.５ ⑧ ０.２ +０.８＝

０.４＝０.７

④ ０.４ +０.９＝１.３ ⑩ １.１

⑤ ０.５ +０.７＝ +０.６＝

０.６ +０.５＝

０.３＝０.５

１.４

⑥ ０.６ +０.３＝０.９ ⑫ ０.２ +

１.２ ⑪ ０.８

⑭ 仕上げ 答え

14



名まえ

・次の計算をしましょう。

① ０.５ +０.３＝０.８ ⑦

② ０.７ +０.６＝

０.７ +０.８＝１.５

０.６

③ ０.２ +０.８＝ １ ⑨ ０.５ +

１.３ ⑧ ０.１ +０.５＝

０.４＝０.９

④ ０.２ +０.２＝０.４ ⑩ １.５

⑤ ０.３ +０.６＝ +０.２＝

０.６ +０.９＝

０.２＝０.６

１

⑥ ０.６ +０.８＝１.４ ⑫ ０.４ +

０.９ ⑪ ０.８

⑮ ⼒だめし 答え
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名まえ

・次の計算をしましょう。

① ０.４ +０.３＝０.７ ⑦

② ０.３ +０.６＝

０.７ +０.３＝ １

１.３

③ ０.５ +０.８＝１.３ ⑨ ０.２ +

０.９ ⑧ ０.６ +０.７＝

０.４＝０.６

④ ０.８ +０.２＝ １ ⑩ １.４

⑤ ０.５ +０.６＝ +０.９＝

０.６ +０.８＝

０.７＝１.１

１.２

⑥ ０.６ +０.９＝１.５ ⑫ ０.４ +

１.１ ⑪ ０.３

⑯ ⼒だめし 答え

16
目指せ80点！


